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Multiple Choice
Identify the cri:‘;)flce that best completes the statement or answers the question.

1. tz E‘//A diver standing on a platform 8 metres above a pool jumps off the platform. The function h(!) =52 +£+8
describes the diver’s height in metres, 7 seconds after jumping. The diver’s velocity is described by the function
v(£)=-10r+1. Which of the following is the simplified form of the expression A (¢)v(¢)? /.,:""
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4 h(e)v(r)==5" -9t +9 @ h(e)v(r) =50 15> =791 +8 (.wtﬂ)(—;Ef-i-"frs-l'g)

. h(r)y(r):SOr‘* ~10¢* +8 S h(t)v(r)=50F ~15¢" — 79 3 \\ - o 3
o o e I = 50t ~ 08 ~Fo-51 7+t +
2. _ ( Which pair of functions is equivalent?
P Fx) = 10x* + 9x + 8 ) =x-3x+5
" g(x)=8x*+10x+ 9 " g =x*+3x-5
flx)=18x-24 O =0x-D+2x+ 1) +4x
> g(x) =6(3x—4) T g =(x+4)-(-4x+ 2D+ 2x

8 b"' Simplify (1107 = 6vw—3w? ) =(=7v* + vw+13w? ).
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d A rectangular dining room has an area that is described by the function A(x)= 3x% +17x+20. If the width of
the room is x + 5, what is the length?
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) IA What are the restrictions on the variable for the rational expression

5d* -25d
a. d#-5,d#0d=+5 b. d+#5 e. d#0 @d:ﬂ,dvﬁ
= . b3 2 2 ] 3 4 7x2 = 28)’2 1).8%
7. Simplify (I()q +8r —IS)+(ISq -32+49r ) (K2) | 8. Simplify ———————— and state any restrictions on the
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restrictions on the variables. (K6)
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Application

9. Simplify and state any
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11. Michelle owns a company that sells gift wrap and cards. The function £(x) = — 9x% + 60x + 1450 models her
company’s revenue, for x weeks. The function £(x) = 2x* — 10x + 25 models the company’s production expenses.

a) Write the simplified form of the profit function,
P(x)=R(x)-E(x). (A3)

= PO 150 - (A 0x+25)
= Sn Gn® bl 10X 15058

ol TOx 14BN

b) How much profit will the company make after 4 -
weeks? (A2)
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12. The length of a rectangle is 5 less than triple the width. Determine how the area changes if the length of the rectangle
is increased by | and the width is decreased by 4. Show your work. (A4)
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Thinking
13. The area of a rectangle is described by the function A(n)=n’—6n" —8n+48. What is a possible perimeter of the

rectangle? Is this the only possible perimeter? Describe how you found your answer. (T5) =
Aln) = n®-bn’—8nt+¥d o gt
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14. State a possible equation of the rational function whose graph is shown
at the right. Justify your answer. (T4)
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